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Min (T): Yi+ Yo+ Y3
SIC:
8Y1+6Y>,+4Y3>1
6Y1+8Y,+10Y3>1
8Y1+12Y,+2Y3>1
4Y,1 +10Y, +6Y3>1
Y1, Y2, Y320
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Max (Z)= X1+ Xz + X3+ X4
SIC:
8X1+6X,+8X3+4X3<1
6X; +8X,+12X3+10X3<1
4X1+ 10X, +2X3+6X3<1
X1, Xz, X3, X4 =0
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C; 1 1 1 1 0 0 0 ]
Cc | VB | Xi | X, | X5 | X¢ | S | S, | Ss
0 S, 8 6 8 4 1 0 0 1
0 S, 6 8 12 | 10 | 0 1 0 1
0 S 4 10 2 6 0 0 1 1
Z 0 0 0 0 0 0 0 0
A=Ci- Z; 1 1 1 1 0 0 0
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Cg Vg X1 X, X3 X4 S, S, S3
1 X 1 1/2 47 0 5/28 | -1/14 0 3/28
1 X4 0 1/2 6/7 1 -3/28 | 1/7 0 1/28
0 S3 0 9) - 38/7 0 -1/14 | -Al7 1 5/14
Z; 1 1 10/7 1 1/14 | 1/14 0 1/7
A=C;i - Z; 0 0 | 37 | 0 |-1l4]|-114| O
9o Jaddl el -
X1=3/28
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(A) wdlized Ll 2z i) yuzs -2
Ai=1/14 x7/1=1/2
A=1/14 x7/1=1/2
As=0
(B) (udliall Jil) Al ! syams -3
B,=3/28 x 7/1 = 3/4
B,=0
B:=0
B,=1/28 x 7/1 =1/4



Sacl 8y15] + Ao 8,/5] siwlo Jof Lice 5y10¥ § AeaST ol b3lo (3 Slpiislmo

Loy ) Ml alasialy Jadl Jgliz § poliall Glus S

Ay3zz

Ap= lad Ag7 -

aza

(28) caleall 3 &', s g5
JLITEN
a1 o uis A aSlglly (Gygmall dpanll B Lilaell jeaial g ay
a12 dgac gaii 3 adlglly (gysmall caall 8 Llaall il s ax

@pall jeaial sa ay

Al ) 8 el g

_‘I}Ja.gjll
(&)3>al
d11 an
Sypmall Ca Sl | A12 an

11032

a'yy = muay ap
@zy



Sacl 8,)3) + Lo 8,)5] yiwslo Jof dice

5,01 5 duaST el Glo 5 ilyuis Lo

Petile€ anall Jpoall sy

7
L.

Sy

X1 X X3 X X: Syl
:‘:'In-ull-n-ﬂ.i1
dy j a, b,
— h
X3 0 iy iy, 1 iy 0 I iy
dyy = ——=
i)
1
X1 1 ay, 0 @y, 0 b, /a,,
. fy,d ay b,
Xs 0 : ) 0 s I iy
C-I a1 (.1 . Ii.;"l
. o, -2 = c 2
1) 0 © dy 0 dy 0 "ay




